AN

> H n N 5 n 08220100 HANSA - Rohbauset Brause-Thermostatbatterie

EAN: 4015474160774
static.hansa.com/08220100

Ersatzteile
SP08220100
Name Art.-Nr.

1 Absperrgriff Chrom 59913235
11 Schraube, M6x9.5 59901609
12 Justierring 59913231
13 Hebel, M8, 22 mm Chrom 59912132
13 Hebel, M8x1, 40 mm Chrom 59913649
14 0-Ring, d 6x1 59912136
2 Deckplatte, d 188 mm Chrom 59912124
21 Abdeckkappe Chrom 59913234
23 Schraube, M5x65 Chrom 59904847
25 Gummidichtung 59912232
3 Temperatureinstellgriff Chrom 59913236
31 Schraube, M4x4 59901027
32 Blindstopfen Chrom 59911840
6 Thermostatkartusche 59913233
6.1 Adapter Weiss 59910235
6.2 Schraube, M50x1, SW45 59913230
7 Adapter 59913232
NI Anschlagstift 59912005

© 2024 Hansa Armaturen GmbH - www.hansa.com - 15.02.2024


https://static.hansa.com/08220100

